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STATISTICS

Paper : STA010Q104
( Descriptive Statistics and Probability-I)
Full Marks : 45
Time : 2 hours

The figures in the margin indicate
Jull marks for the questions.

Answer either in English or in Assamese.

1. Answer the following questions : 1x5=5
OO PTRY OeT fira ¢

(@ Which of the following does not
represent the empirical relationship
between mean, median and mode ?

ST BLHRS (FINCOIE W, N S 0]
NeR Sfoweifofes 9% AfeRiag FoEe

() Mean-Mode = 3 (Mean - Median)
Y ~ ILTF = 3 (N4 — TG
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(b)

1
(i) Median = 3 (2 Mean + Mode)

'SIW=%(2TMI+W)

(iii) Mode =3 Median -2 Mean
IZEF = 3 TGA — 2 TG

(iv) Mean = % (8 Median + Mode)

31T21'5=% (3 WG + ITF)

Identify the scale/scaleg of
measurement which allow ranking of
‘observations.

IO/ (IR ToACE PRI
e SRt e e 4|

(i) Nominal scale, Ordinal scale and
Interval scale

APHF o, FAAREPS AT AT
JRAN 2T

(i) - Ordinal scale, Interval scale and
Ratio scale

FAADHS AT, Y AT S
ATS W5
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(@)
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(i) Ordinal scale only

(1 TS Mofs

(iv) Interval scale only
(g I £ ) Y ) e B
What is it called when the source of

data is collected and compiled by
others ?

S T IO ST 7 MRS i FHewore
7 o [ @

(i) Primary data
I ©hG
(ii) Secondary data
T ©2h
(iii) Tertiary data
PO oAg ©Y
(iv) None of the above
8999 «bIe 7T
Which of the following is the arithmetic

mean of the first n even natural
numbers ?

oo CrHRS (IS AR 1Bl A el
TRY TG ey 2

n+1

o
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(i) n+l

i) n(n2+ 1)

(iv) n(n+1)

(e) Three fair coins are tossed togc:cther.
What is the probability of getting 2
heads and one tail ?

o0 swieree a Fess 791 a1 201 7
W% 51 7R (IR TSIkl e

2. Answer any five from the following
questions : 2x5=10

©o eHPTIRA [zl S5t es fam ¢

() Name four methods of collecting
primary data.
Y2 O FRAZ 516 oweS AN |

(b) Distinguish between Questionnaire and
Schedule.

pIET] S SRR SA1LE |

() The variance of the first n natural
numbers is 10. Find n.

S B ARTOP AR e 10 | nF T fAef
4|
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(d) Distinguish between frequency curve
and frequency polygon.

ARRITO! IF W IO I2ged A1 72 |

(e) Write the formula for the combined
variance of two sets of observations.

7ol for oRitre T Wye el St
ferait |

() Show that variance is not affected by
change of origin but affected by change
of scale.

(TYST (T AR T ARG 21 2eiie 727
% o[ oIfST1 71 Foike 23

(9) The median of the following frequency
distribution is 25. Find the frequency
corresponding to class interval 10-20.

oo 3l AT 3591 N 25. NRS!

10-20% R#(fire Il o 29 fof 31|
ClL (®R) : 0-10  10-20  20-30  30-40  40-50
Frequency : y ? 10 7 3
BIEE
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(h)

0)

Let n dice be thrown. Find the
mathematical expectation of the sum
of the points on them.

1 b Fuel Fowd = 2a | e @R
@oFs GTERI TRA AoFer aMfafes eropl

o =t

A box contains 6 tickets. Two of the
tickets carry a prize of Rs. 5 each, the

other four tickets carry a prize of Re. 1
each. If one of the tickets is drawn

randomly, what is the expected value
of the prize?

451 ATES 651 e R | O YR AT
Bz @ Rs. 5. W% S GIROR AT

B2l T Re. 1. 3 <1 fooe mfezrei
Bl T, (90T ToigR TR e W

74?2
If (7f) E(X)=12 and () var(X)=9,
then find ((oT38 Sfed) E(2X +3) and

(W%) var(2X +3).
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3. Answer any four from the following

questions :

5x4=20

o) PRI e Aishiy Ses faw ¢

(@) Write a detailed note on Ratio Scale of

(b)

@)

measurement of statistical data.

ARPIRAITR OUT Tgsiie Mo @sqw S
e Gt o

Write a brief note on the general

rules for construction of frequency
distribution.

IS 367 [T AR e AYRe
ot esige «ft 53 Gt i

Show that standard deviation is always

greater than mean deviation about
mean.

A0\ | I B O 7 o e 5y e Bl o e
Rpfees ™y wiex 27|

The arithmetic mean of the following
distribution is 1-5. Find the values of
> and f3.

O ADACGR NG TG 1-5. f % £ T
efa 1| '

X 0! F A 1p5 2098 Tlears B> Total (3D)
Frequency 45’V /f; "7 Mgy vP5 950
RISIE)
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(e) Write a note on the point of concern

(9)

that should be kept in mind while
framing a questionnaire or schedule.

orEeT A TP AW FRICS el
ARGTOPES 8T aft (Bl foral |

The duration of life (in hours) of an
electric bulb is assumed to follow a
continuous distribution with p.d.f.

@ 2o <ot Ryl 5k G (351) «fo
wififoRd I TPRe I IS ALT. (p.d.f.) T

£(x) =—; 1000 < x <1500
X

Find (e 390) :
(i) The value of ¢ (c3 ™)

(i) P(X21200)

Suppose a die is thrown. Find the

probability of getting either an even
number or a number greater than 4 or

both.

@ G el Mo I a1 @O A WA
w2[l 5l SIRSE ©ie AT T TS
(AR TeiRe [T T
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(h) The probability that a high school

student being male is % and that being

Wl
female is 3 The probability that a male

student completes the course

el
successfully is 10 and that a female

i |
student does it is g A student selected

at random is found to have completed
the course successfully. What is the
probability that the student is female ?

@mﬁw«ﬁmﬁﬂw%@@mm
TS T < % TR ZRE TRl 2

2
3 | 9O WER TN AT NG I

Wi’a% IF G SIGIR (2 ABIRe!

4
= |9 R s Afoerora o 1 2a

SIF (Tl e (T (O FRFETOIE AT AN
slacz| fifbe Rmidiamdl 2@t xR Teier
e
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4. Answer any one from the following

questions :

©eR A R qor9 Tes faml ¢

(@)

(b)

el
@R

Frequency :
Rl

10

Write a note on presentation of
frequency distribution. Explain how
histograms can be drawn with data
from—

(i) discrete variable, and

(i) continuous variable.

AR 35 T e b (i ol
() Rz o, o

(i) Rz vera

o (o1 WSha Sk Aellent Ut |

Compute the measure of skewness and
the measure of kurtosis for the following

distribution :

O IO AR RITOR T ST I IFON
T A1 P

3.7 812 13-17 1822 2327 28-32 33-37

2 8 10 9 6 3
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(c)

(@)

For n events A;, Ay,..., A, prove that—
nb! S0 A;, Ay,..., A, I AN I ([FT—

(i) P(ﬂl A,-] - le P(A)-(n-1)

w #(Ja)<E pa)

Let a random variable X has the p.d.f.
$4l @Ol AT beF X AT, T

f(x)=cx(x—2);05‘x52
Find (Fefar 1)

(i) Arithmetic mean
RIS R

(ii) Median
pEin|

(iii) Mode
2P

(iv) Harmonic mean

2T TG
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